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December - Examination 2018
BA/BSC Pt.lIl Examination
Programming in C
Paper - CS-05/IT-05
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X2=14
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) Name the different types of Flowchart symbols.

Flowchart 3 fIf¥= YR & Udlol &b I ford |

(ii) Define constant in C programing language.

C programing 9T8T & constant & IR av |

(iif) Name the different types of loops.

I upR & U & T foRay|

(iv) What does strlen () function returns?
strlen () a2, @1 Rew o=ar g7

(v) What is an operator?

Operator frY g g ?

(vi) What are keywords in ‘C’?

‘C’ & keywords P TRTIRT TN |
(vii) What is purpose of the keyword ‘void’?

‘void’ keywords &% 3G9I B! forRd |

Section - B 4x7=28
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

Qus - §
(o7 ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY U ITR Bl Afpey
200 orsgi # gRAfAT BT Ies U9T 7 37pl &l gl
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What is meant by compilation and interpretation? How do
these two processes differ?

compilation and interpretation B IR | g process
Th-GHR DI bl differ HRa & 2

Explain with example, use of following function Strlen (), Strcat
(), Stremp ().

ST & A1, e & SuaRT B eS|

Strlen (), Strcat (), Strcemp ()

Explain the concept of pointer to pointer, with suitable example.
SUIART ISTEROT B AT, pointer to pointer T TR Bl FHTY |

Write a C program to implement insertion sort.

insertion A I gHHE DY & g it T ford |

Summarize the purpose of the flags that are commonly used
within the ‘Printf’ function.

‘Printf’ function ¥ ATHTI; SUART § 3f+arel flags ¥ 35T ford |

Compare the use of the ‘SWITCH’ statement with the use of
nested ‘if-else’ statements. Which is more convenient?
‘SWITCH’ statement or nested ‘if-else’ @I compare T
DI convenient g ?

Write a function that will calculate and display the real roots of
the quadratic equation. ax®+bx+c=0

Quadratic equation & roots @1 calculate TR display & forg
function foRI | ax®+bx+c=0

How is a structure member accessed? How can a structure
member be processed?
TP structure member dI B assessed or processed o S

AT & ?
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Section-C 2X14=28
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
14 marks.

Qus - ¥
(Sref ST T9d)

fAder : =gl @ U9l & IR SINTTI 31T 3109 IR B 31frhad 500

10)

11)

12)

13)

grecl o gRAIRT Hif| U U9 14 3T & Bl

Differentiate between call by value and call by reference, with
suitable example.

call by value 3R call by reference & df7 3R, SERCHASHE
&b AT FHATS

What are storage classes in C-language? Also explain
properties associated with these classes using suitable
example.

- AT H TR FARE T 8?2 3T M A S 0N bl AR
UG ISERUN T IJTANT b AT

Write a program in C for calculating the factorial of a given
number using recursion.

recursion &Y TERIAT I €T T number T factorial =TT B B
g ford |

What is a character type array? How are character type arrays
used to represent multicharacter strings?

character type array &1 g1 8?2 I multicharacter strings Gl

g & oY 5T aRg A SUaW 81 B2
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